- = Vermenigvuldigen (vermenigvuldigen met 7
% ‘ :L .g. gvuldigen ( gvuldig )

Naam: Datum: Score:
SXT= IxT = SXT= 2x7T =
10 x7 = 2x7T = 7T xXT = 3x7=
6 x7= S5x7T = 4 x7 = & x7 =
7T xT = 1 x7= 2x7 = 4 <7 =
8 x7 = 10 x7 = 6 x7= 10 x7 =
3x7T= T xT = 1 x7= 2x7T =
1 x7= 4 x7 = 9x7= S5x7=
4 x7 = 7T xT = & x7 = 3x7=
6 x7= 9x7= 3xT= S5XT =
7T xXT = 4 <7 = 9x7= 4 <7 =
9x7= T X7 = 1 x7= 10 x7 =
4 x7 = 5x7= 10x7 = S5x7 =
2x7T = T xT =
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Vermenigvuldigen (vermenigvuldigen met 7)

10 x7="70

6x7=42

7x7=49

8 xT7 =56

3xT7=2I1

1 x7="7

4 x7 =128

6 x7=42

7x7=49

9x7=063

4 x7=128

2x7=14

3x7=21

2x7=14

5x7=35

1 x7=7

10 x7="170

7 xT7T=49

4 x7 =28

7x7=49

9x7=063

4 x77 =28

7x7=49

5x7=35

7 x7T=49

5x7=35

7 xT7T=49

4 x7 =28

2x7=14

6x7=42

1 x7="7

9x7=063

8 x7 =156

3xT7=21

9x7=063

1 x7="7

10 x7 =70
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Datum:

Score:

2x7=14

3IxT7T=2I

8x7=56

4 x7 =128

10 x7 =70

2x7=14

5x7=35

3xT7=21

5x7=35

4 x7 =28

10 x7="70

5x7=35
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